HEEH- AO#HETR (FH22658%)

* ok ok Fe A O k k %

NF 24 1 He® | AT | B S T Ha | KOar ;] ES
JKOET/\H 81 284 135 149 KOBTAE—TH 104 310 141 169
KOHBTEH 334| 1,057 529 528 KOBTAEIZTH 159 328 140 188
JKOETF W 925| 2639| 1,369 1,270 KOBTAET=TH 121 262 138 124
JKOET AL 126 499 238 261 KOBTSIR 218 594 296 298
JK O ETLL 2239| 6,632| 3,409| 3,223 JK O BT B3 88 199 93 106
JKOHTR 284 884 423 461 KOBTH#R 69 173 83 90
KOBTEA 132 410 200 210 KOBTEEE 64 174 83 91
KOETHE 36 153 80 73 KOBETE DRI 37 91 42 49
JKOETFH 207 601 289 312 KOETFET—T B 42 113 52 61
K O BT L BR 505| 1,228 610 618 KOETFEI=TH 76 193 92 101
KO BT RAF 337| 1,006 499 507 AKOBEIEHA R 122 258 130 128
AKOBTEA 302 934 445 489 AKOBTEHEMNE 208 531 256 275
KOBTRAFHR 228 520 277 243 KOBTAREE 76 124 80 44
KOBTIERE 86 293 139 154 KO BT#EE7 70 163 73 90
JKOBT=F)I 210 649 307 342 K OET/\IR 133 350 162 188
JKOBTEIR 20 85 37 48 JKOET/\H 134 298 152 146
KOBTS L 36 156 80 76 KOBETHEER 159 407 203 204
KOBT=KF 683| 2,329 1,158 1,171 KOBTENE 146 382 185 197
7K O BT 4 £7 175 568 272 296 KOBTHA 143 397 186 211
7K O BT Al 101 326 144 182 JKOBETARA 151 414 198 216
JKOBTIL E 94 276 133 143 K O BT BB 130 332 169 163
KOBTEAR 536/ 1,109 628 481 KOBTHE 41 88 37 51
JK O BT 43R 532| 1,266 654 612 KOETE 4O 75 171 96 75
KOBETHAE 452 1,547 793 754 KOBTFE#O 189 419 204 215
7K O BT A 4 42 151 70 81 JKOBTKO 561| 1,442 718 724
K O BT 561 1,711 841 870 AKOBTENE 105 214 119 95
7K O BT 5 488 101 341 165 176 KOBTEA)I—TH 199 552 285 267
7K O BT g 114 430 214 216 KOBTEANZTH 189 463 235 228
KOBTF0E 95 358 172 186 AKOBTEE#O 90 240 119 121
KOBTRAEE 50 152 69 83 KOBTIR—TH 220 395 228 167
JK O BT STHT 136 350 159 191 KOBTIR=TH 136 338 173 165
7K O BT ZR BT 116 296 145 151 7K O BT B35 75 192 104 88
7K O BT #4185 123 269 121 148 7K 2 BT 2 A B7 4T 0D T 162 488 265 223
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RFZHI HEH | ADE ] £
£ LB KSR 67 184 80 104
+ BT &kA] 159 519 234 285
T IILETEE 28 98 48 50
T ILETE)I 170 507 265 242
TILETRES 28 104 45 59
+ ILET 48 159 74 85
+ L ET B 27 107 47 60
T ILET L Z R 28 70 34 36
T BRI 427 1,171 602 569
T LETdE £ 686| 1,997 996| 1,001
T ILETEF 24 96 51 45
TIIETE/ B 44 171 82 89
TILETH L 35 151 72 79
T ILHETEY £ By 106 256 133 123
T ILETKZE 21 78 35 43
TILETEE = 91 327 161 166
+ ILETRT S 123 363 187 176
T ILETTi5 100 378 186 192
T ILET{E R 164 589 289 300
T IUBET K 473 1,495 772 723
| +ILET E | 2849] 8820] 4,393] 4,427|

(FR22%58XK)

KFL HHEH | AOE ] T
BB BT EF 92 326 153 173
FR 2 M 4 270 947 459 488
RERKRLH 77 288 138 150
REERXAR 93 325 145 180
RER KRS 281 695 346 349
REEEEE 123 434 218 216
B BT 1845 159 485 228 257
REEKETIS 272 802 397 405
BB T = 57 100 359 184 175
FREHTH 247 840 413 427
o L 252 797 374 423
FEETHER 164 537 239 298
FEEE 196 675 326 349
FEETEK 53 182 87 95
FEETF1H 88 325 151 174
RENSE 43 150 70 80
FENTARA 79 265 118 147
BB BT /IMEA 164 633 303 330
R B HT f 4R 111 435 205 230
B & BT =5 102 370 173 197
RERSE=E 138 510 244 266
RERTFIR 175 552 269 283
RERTEZRS 119 407 204 203

EHEHE &t | 3,398[ 11,339] 5,444| 5,895
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RF AR HHEH | AOE ] = KFL HHEH | AOE ] £
FREHATFE 536 1,478 720 758 & EsEXRET1TH 159 461 230 231
FRETE AR 295 858 405 453 Bl AL EAR2TH 123 389 192 197
A m ET iR )| 851 2421 1,169 1,252 FEBTAES EAREISTH 88 273 138 135
B BT iR ) || T 35 55 160 73 87 BT HFEy EAR4TH 87 260 134 126
LIRS 164 562 273 289 FriaEs EXREI5TH 99 307 158 149
BT &R 76 248 116 132 Bl HEr EAR6TH 89 284 135 149
e EN 44 136 66 70 & EsEXRET7TH 81 252 128 124
FA m Tt 381| 1,297 632 665 Bl HEr EARSTH 119 376 194 182
FAra ET I R 91 324 154 170 Fri&aEs EXRETOTH 138 433 214 219
FP = T &8 A B 214 674 337 337 Bl HF L EAR10T B 115 347 183 164
FEETEH R 184 526 265 261 HFEiTAaEsE1TH 190 541 268 273
BT EFH 151 452 236 216 FmEAEs7E2TH 285 861 415 446
FEATEZ & 197 675 327 348 HFrEiTA#EsE3TH 254 737 365 372
B BT 7 A 502 1,354 676 678 PR AEsE4TH 172 533 266 267
A I HT 18 BF 49 161 67 94 HFEiTAEsE5TH 245 758 378 380
BT TR 76 231 109 122
B R BT A F 90 313 151 162 | ERgH] &t | 6,967] 20,908[ 10,246| 10,662
A mg BT E7 )1 100 361 164 197
FREETTEH 48 158 75 83
ARG HT B4 60 193 87 106
BT E T B 105 285 143 142
FREETH02T B 150 363 176 187
R ETHH 03T B 172 468 230 238
BT 04T B 132 398 197 201




e - AOMKER (ER22%5A %)
* ok ok F A Ok k% %
KFB HEL | AOE 2 =
EEIRE 1,323 3,754| 1,849 1,905
EELE:IT 432| 1,129 569 560
{EXETIH 356 1,072 534 538
EXEATHAK 151 261 123 138
EE P 31 116 53 63
15 ZEHT = BT 117 391 177 214
EELIE 259 724 361 363
EELIE 423| 1,113 542 571
EEME 401 1,085 534 551
1EEBTHER 97 331 150 181
B 219 627 336 291
EELIgAN 52 174 85 89
15 ZEHT/NI 174 547 262 285
1S ZEET /NI H 58 188 89 99
B 141 326 172 154 HEH | AOE E3] %
{EXBT EERE 152 458 213 245 JKOHT &t 14,491| 40,604| 20,341| 20,263
EEITHE 64 202 106 96 o 11]: 2,849 8,820| 4,393| 4427
EXEETER 46 167 73 94 FHEAT &t 3,398| 11,339| 5444| 5,895
EEJIEZTIE 181 466| 228| 238 FmIEr &t 6,967| 20,908| 10,246| 10,662
EELIER, 4677| 13,131| 6,456| 6,675
{EZET &t | 4677] 13,131] 6,456 6,675] FEm &5t 32,382) 94.802| 46,880| 47,922




